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1. Complete the empty (unshaded) boxes of
(i) the 7’s row of the times table grid,

X 2 3 4 ) 6 7 8 9 10

7

(ii) the 45’s row of the times table grid.

X 2 3 4 b} 6 7 8 9 10

45

(iii) the 62’s row of the times table grid.

X 2 3 4 bt 6 7 8 9 10

62

given= sign (8) QL: (i) 14, 28, 35, 56, 70 (ii) 90, 180, 225, 360, 450 (iii) 124, 248, 310, 496, 620

Q2: (i) 6, 12, 15, 24, 30 (ii) 152, 304, 380, 608, 760  (iii) 168, 336, 420, 672, 840

1. Complete the empty (unshaded) boxes of
(i) the 7’s row of the times table grid,

X 2 3 4 5 6 7 8 9 10

7

(ii) the 45’s row of the times table grid.

X 2 3 4 ) 6 7 8 9 10

45

(iii) the 62’s row of the times table grid.

X 2 3 4 b} 6 7 8 9 10

62
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2. Complete the empty (unshaded) boxes of
(i) the 3’s row of the times table grid,

X 2 3 4 ) 6 7 8 9 10

3

(ii) the 76’s row of the times table grid.

X 2 3 4 b} 6 7 8 9 10

76

(iii) the 84’s row of the times table grid.

X 2 3 4 bt 6 7 8 9 10

84

2. Complete the empty (unshaded) boxes of
(i) the 3’s row of the times table grid,

X 2 3 4 ) 6 7 8 9 10

3

(ii) the 76’s row of the times table grid.

X 2 3 4 b} 6 7 8 9 10

76

(iii) the 84’s row of the times table grid.

X 2 3 4 bt 6 7 8 9 10

84
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